MTH125 College Algebra Unit 5 Hw Name

Free Response Question 4
Calculator NOT Permitted

Consider the two logarithmic functions below to answer the following questions.
20 X2 x?0
f(x) = 2logz x + log;(x — 2) g(x) = log5(3%)

a. Rewrite f(x) as a logarithm function of a single logarithm. Then, find f(2) and f(3). If a value is undefined, then explain
why. Show your work.
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b. Between what two integers does the value of g(20) lie? Show and explain your reasoning.
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c. For what value(s) of x is f(x) = g(x)? Show the algebraic analysis that leads to your answer(s).
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